ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2024067

TRACS	No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
0000 PM 0RV	T043801C	0RV-0-(204)T	Local	PIMA	SOUTHCENT	0		Yusuf Kadem

Highway Termini	Location	Work Description
-----------------	----------	------------------

TOWN OF ORO VALLEY

[•] NARANJA DR LA CANADA DR TO FIR

[•]CONSTRUCT MULTI-USE PATH

Printed: 7/25/2025 Page 1 of 15

BID RESULTS FOR 2024067

Bid Opening Date: 6/13/2025, Prequalification Required, Engineer Specialist: Yusuf Kadem

Completion Date:

135 Working Days

The proposed project is located in the ADOT Southcentral District in the Town of Oro Valley within Pima County. The project limits are from La Cañada Drive to First Ave along Naranja Drive. The work consists of constructing asphaltic concrete multi-use pathway, reconstructing side streets and driveways, culvert extensions, installing signs, constructing retaining walls, placing riprap, installing metal handrails, pavement marking and other related work.

Bid Rank	Compared Top Department Estimat		Contractor	Extended Sum of Items
	+%	\$2,468,918.75	DEPARTMENT ESTIMATE	\$2,468,918.75
1	+10.7%	\$2,733,476.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$2,733,476.00
2	+16.1%	\$2,865,560.00	COMBS CONSTRUCTION COMPANY, INC. 1903 WEST PARKSIDE LANE, SUITE #100 GLENDALE, AZ 85027-	\$2,865,560.00
3	+16.2%	\$2,868,798.85	B4 Enterprises, Inc. 287 N. Westview Dr. Cedar City, UT 84720-	\$2,868,798.85
4	+18.3%	\$2,921,833.40	K E & G CONSTRUCTION, INC. 3949 E. Irvington Rd. TUCSON, AZ 85714-	\$2,921,833.40
5	+29.6%	\$3,200,000.00	K.A.Z. CONSTRUCTION, INC. 1138 S SANTA RITA AVENUE TUCSON, AZ 85719-	\$3,200,000.00
6	+39.4%	\$3,442,907.00	ISX CONSTRUCTION, LLC. 5800 W. ARIZONA PAVILIONS DRIVE # 2398 TUCSON, AZ 85652-	\$3,442,907.00

Winning Bidder is 10.7% Over Department Estimate (Difference = \$264,557.25)

Printed: 7/25/2025 Page 2 of 15

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2010011	ACRE	CLEARING AND GRUBBING				
Bid Rank	Department	: Estimate	4.000	\$7,500.000	\$30,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$16,000.000	\$64,000.00	+113.3%
2	COMBS CO	DNSTRUCTION COMPANY, INC.		\$12,000.000	\$48,000.00	+60.0%
3	B4 Enterpris	ses, Inc.		\$30,000.000	\$120,000.00	+300.0%
4	KE&GCC	INSTRUCTION, INC.		\$6,100.530	\$24,402.12	-18.7%
5	K.A.Z. CON	ISTRUCTION, INC.		\$10,000.000	\$40,000.00	+33.3%
6	ISX CONST	RUCTION, LLC.		\$12,000.000	\$48,000.00	+60.0%
2020009	CU.YD.	REMOVAL OF STRUCTURAL CONC	RETE			
Bid Rank	Department	Estimate	140.000	\$550.000	\$77,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$275.000	\$38,500.00	-50.0%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$450.000	\$63,000.00	-18.2%
3	B4 Enterpris	ses, Inc.		\$400.000	\$56,000.00	-27.3%
4	KE&GCC	INSTRUCTION, INC.		\$281.120	\$39,356.80	-48.9%
5	K.A.Z. CON	ISTRUCTION, INC.		\$250.000	\$35,000.00	-54.5%
6	ISX CONST	RUCTION, LLC.		\$250.000	\$35,000.00	-54.5%
2020020	L.FT.	REMOVAL OF CONCRETE CURB				
Bid Rank	Department	Estimate	286.000	\$20.000	\$5,720.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$24.000	\$6,864.00	+20.0%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$40.000	\$11,440.00	+100.0%
3	B4 Enterpris	ses, Inc.		\$23.000	\$6,578.00	+15.0%
4	KE&GCC	INSTRUCTION, INC.		\$8.440	\$2,413.84	-57.8%
5		ISTRUCTION, INC.		\$10.000	\$2,860.00	-50.0%
6	ISX CONST	RUCTION, LLC.		\$20.000	\$5,720.00	+0.0%
2020033	SQ.YD.	REMOVE (BRICK PAVERS)				
Bid Rank	Department	Estimate	88.000	\$10.000	\$880.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$27.000	\$2,376.00	+170.0%
2	COMBS CO	DNSTRUCTION COMPANY, INC.		\$100.000	\$8,800.00	+900.0%
3	B4 Enterpris	ses, Inc.		\$42.000	\$3,696.00	+320.0%
4	KE&GCC	INSTRUCTION, INC.		\$16.190	\$1,424.72	+61.9%
5	K.A.Z. CON	ISTRUCTION, INC.		\$15.000	\$1,320.00	+50.0%
6	ISX CONST	RUCTION, LLC.		\$40.000	\$3,520.00	+300.0%
2020039	SQ.YD.	REMOVAL OF ASPHALTIC CONCRE	TE PAVEMENT (DRIV	EWAYS)		
Bid Rank	Department	Estimate	947.000	\$10.000	\$9,470.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$26.000	\$24,622.00	+160.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$36.000	\$34,092.00	+260.0%
3	B4 Enterpris	ses, Inc.		\$15.000	\$14,205.00	+50.0%
4	KE&GCC	NSTRUCTION, INC.		\$14.590	\$13,816.73	+45.9%
5	K.A.Z. CON	STRUCTION, INC.		\$25.000	\$23,675.00	+150.0%

Printed: 7/25/2025 Page 3 of 15

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020039	SQ.YD.	REMOVAL OF ASPHALTIC CONCE	RETE PAVEMENT (DRIVE	WAYS)		
Bid Rank	Department		947.000	\$10.000	\$9,470.00	
6	•	RUCTION, LLC.		\$50.000	\$47,350.00	+400.0%
2020051	CU.YD.	REMOVE (SHOTCRETE)				
Bid Rank	Department	,	32.000	\$400.000	\$12,800.00	
1	•	ONSTRUCTION COMPANY	02.000	\$407.000	\$13,024.00	+1.8%
2		NSTRUCTION COMPANY, INC.		\$500.000	\$16,000.00	+25.0%
3	B4 Enterpris	,		\$200.000	\$6,400.00	-50.0%
4	•	NSTRUCTION, INC.		\$276.780	\$8,856.96	-30.8%
5		STRUCTION, INC.		\$250.000	\$8,000.00	-37.5%
6	ISX CONST	RUCTION, LLC.		\$450.000	\$14,400.00	+12.5%
2030301	CU.YD.	ROADWAY EXCAVATION				
Bid Rank	Department	Estimate	12,729.000	\$32.000	\$407,328.00	
1	GRANITE C	ONSTRUCTION COMPANY	·	\$23.500	\$299,131.50	-26.6%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$42.000	\$534,618.00	+31.3%
3	B4 Enterpris	es, Inc.		\$43.000	\$547,347.00	+34.4%
4	KE&GCO	NSTRUCTION, INC.		\$47.390	\$603,227.31	+48.1%
5	K.A.Z. CONS	STRUCTION, INC.		\$38.000	\$483,702.00	+18.8%
6	ISX CONST	RUCTION, LLC.		\$22.000	\$280,038.00	-31.3%
2030401	CU.YD.	DRAINAGE EXCAVATION				
Bid Rank	Department	Estimate	135.000	\$50.000	\$6,750.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$71.000	\$9,585.00	+42.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$150.000	\$20,250.00	+200.0%
3	B4 Enterpris	es, Inc.		\$100.000	\$13,500.00	+100.0%
4	KE&GCO	NSTRUCTION, INC.		\$86.320	\$11,653.20	+72.6%
5	K.A.Z. CONS	STRUCTION, INC.		\$40.000	\$5,400.00	-20.0%
6	ISX CONST	RUCTION, LLC.		\$150.000	\$20,250.00	+200.0%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department	Estimate	1,372.000	\$120.000	\$164,640.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$100.000	\$137,200.00	-16.7%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$95.000	\$130,340.00	-20.8%
3	B4 Enterpris	es, Inc.		\$91.000	\$124,852.00	-24.2%
4	KE&GCO	NSTRUCTION, INC.		\$205.730	\$282,261.56	+71.4%
5	K.A.Z. CONS	STRUCTION, INC.		\$90.000	\$123,480.00	-25.0%
6	ISX CONST	RUCTION, LLC.		\$150.000	\$205,800.00	+25.0%
090003	TON	ASPHALTIC CONCRETE (MISCEL	LANEOUS STRUCTURAL	.)		
3id Rank	Department	Estimate	1,304.000	\$200.000	\$260,800.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$167.000	\$217,768.00	-16.5%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$165.000	\$215,160.00	-17.5%

Printed: 7/25/2025 Page 4 of 15 *** Bid Tabs for Proposal Pamphlet 2024067 ***

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
4090003	TON	ASPHALTIC CONCRETE (MISCELLANE	EOUS STRUCTURAL)			
Bid Rank	Department	Estimate	1,304.000	\$200.000	\$260,800.00	
3	B4 Enterpris	es, Inc.		\$216.000	\$281,664.00	+8.0%
4		NSTRUCTION, INC.		\$184.020	\$239,962.08	-8.0%
5	K.A.Z. CONS	STRUCTION, INC.		\$200.000	\$260,800.00	+0.0%
6	ISX CONSTI	RUCTION, LLC.		\$265.000	\$345,560.00	+32.5%
5010007	L.FT.	PIPE, CORRUGATED METAL, 18"				
Bid Rank	Department	Estimate	76.000	\$400.000	\$30,400.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$212.000	\$16,112.00	-47.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$350.000	\$26,600.00	-12.5%
3	B4 Enterpris	es, Inc.		\$150.000	\$11,400.00	-62.5%
4	K E & G COI	NSTRUCTION, INC.		\$232.220	\$17,648.72	-41.9%
5	K.A.Z. CONS	STRUCTION, INC.		\$120.000	\$9,120.00	-70.0%
6	ISX CONSTI	RUCTION, LLC.		\$400.000	\$30,400.00	+0.0%
5010017	L.FT.	PIPE, CORRUGATED METAL, 30"				
Bid Rank	Department	Estimate	76.000	\$500.000	\$38,000.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$247.000	\$18,772.00	-50.6%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$600.000	\$45,600.00	+20.0%
3	B4 Enterpris	es, Inc.		\$198.000	\$15,048.00	-60.4%
4	KE&GCO	NSTRUCTION, INC.		\$390.820	\$29,702.32	-21.8%
5	K.A.Z. CONS	STRUCTION, INC.		\$150.000	\$11,400.00	-70.0%
6	ISX CONSTI	RUCTION, LLC.		\$600.000	\$45,600.00	+20.0%
5010055	L.FT.	PIPE, CORRUGATED METAL, 72"				
Bid Rank	Department	Estimate	10.000	\$1,300.000	\$13,000.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$872.000	\$8,720.00	-32.9%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$2,300.000	\$23,000.00	+76.9%
3	B4 Enterpris			\$1,300.000	\$13,000.00	+0.0%
4	KE&GCO	NSTRUCTION, INC.		\$2,148.300	\$21,483.00	+65.3%
5	K.A.Z. CONS	STRUCTION, INC.		\$500.000	\$5,000.00	-61.5%
6	ISX CONSTI	RUCTION, LLC.		\$3,000.000	\$30,000.00	+130.8%
5014018	EACH	FLARED END SECTION, 18" (C-13.25)				
Bid Rank	Department	Estimate	3.000	\$2,000.000	\$6,000.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$771.000	\$2,313.00	-61.5%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$190.000	\$570.00	-90.5%
3	B4 Enterpris	es, Inc.		\$1,200.000	\$3,600.00	-40.0%
4	KE&GCO	NSTRUCTION, INC.		\$2,287.830	\$6,863.49	+14.4%
5	K.A.Z. CONS	STRUCTION, INC.		\$1,200.000	\$3,600.00	-40.0%
6	ISX CONSTI	RUCTION, LLC.		\$1,250.000	\$3,750.00	-37.5%

Printed: 7/25/2025 Page 5 of 15

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
5014030	EACH	FLARED END SECTION, 30" (C-13.2	25)			
Bid Rank	Department	t Estimate	1.000	\$2,500.000	\$2,500.00	
1	GRANITE (CONSTRUCTION COMPANY		\$1,330.000	\$1,330.00	-46.8%
2	COMBS CO	DNSTRUCTION COMPANY, INC.		\$500.000	\$500.00	-80.0%
3	B4 Enterpri	ses, Inc.		\$2,000.000	\$2,000.00	-20.0%
4	KE&GCC	ONSTRUCTION, INC.		\$2,861.730	\$2,861.73	+14.5%
5	K.A.Z. CON	ISTRUCTION, INC.		\$2,500.000	\$2,500.00	+0.0%
6	ISX CONST	FRUCTION, LLC.		\$2,000.000	\$2,000.00	-20.0%
5030605	EACH	CONCRETE CATCH BASIN (C-15.80	- NO CONCRETE AP	RON)		
Bid Rank	Department	t Estimate	1.000	\$11,000.000	\$11,000.00	
1	GRANITE (CONSTRUCTION COMPANY		\$11,460.000	\$11,460.00	+4.2%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$9,500.000	\$9,500.00	-13.6%
3	B4 Enterpri	ses, Inc.		\$6,000.000	\$6,000.00	-45.5%
4	KE&GCC	INSTRUCTION, INC.		\$21,391.690	\$21,391.69	+94.5%
5	K.A.Z. CON	ISTRUCTION, INC.		\$7,500.000	\$7,500.00	-31.8%
6	ISX CONST	FRUCTION, LLC.		\$25,000.000	\$25,000.00	+127.3%
5050089	EACH	MANHOLE (PCRWRD SANITARY SE	EWER MANHOLE)			
Bid Rank	Department	t Estimate	2.000	\$2,500.000	\$5,000.00	
1	GRANITE (CONSTRUCTION COMPANY		\$2,370.000	\$4,740.00	-5.2%
2	COMBS CO	DNSTRUCTION COMPANY, INC.		\$4,000.000	\$8,000.00	+60.0%
3	B4 Enterpri	ses, Inc.		\$3,000.000	\$6,000.00	+20.0%
4	KE&GCC	DNSTRUCTION, INC.		\$8,464.270	\$16,928.54	+238.6%
5	K.A.Z. CON	ISTRUCTION, INC.		\$15,000.000	\$30,000.00	+500.0%
6	ISX CONST	FRUCTION, LLC.		\$2,500.000	\$5,000.00	+0.0%
6016088	EACH	HEADWALL (ADOT STD. DTL. SD 6	.30-1)			
Bid Rank	Department	Estimate	1.000	\$10,000.000	\$10,000.00	
1	GRANITE (CONSTRUCTION COMPANY		\$31,608.000	\$31,608.00	+216.1%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$38,000.000	\$38,000.00	+280.0%
3	B4 Enterpri	ses, Inc.		\$21,640.000	\$21,640.00	+116.4%
4	KE&GCC	INSTRUCTION, INC.		\$51,235.720	\$51,235.72	+412.4%
5	K.A.Z. CON	ISTRUCTION, INC.		\$7,500.000	\$7,500.00	-25.0%
6	ISX CONST	FRUCTION, LLC.		\$65,000.000	\$65,000.00	+550.0%
6070044	EACH	SIGN POST U-CHANNEL (GALVANI	ZED STEEL)			
Bid Rank	Department	t Estimate	30.000	\$175.000	\$5,250.00	
1	GRANITE (CONSTRUCTION COMPANY		\$239.000	\$7,170.00	+36.6%
2	COMBS CO	DNSTRUCTION COMPANY, INC.		\$825.000	\$24,750.00	+371.4%
3	B4 Enterpri	ses, Inc.		\$358.000	\$10,740.00	+104.6%
4	KE&GCC	DNSTRUCTION, INC.		\$328.900	\$9,867.00	+87.9%
5		ISTRUCTION, INC.		\$500.000	\$15,000.00	+185.7%

Printed: 7/25/2025 Page 6 of 15 *** Bid Tabs for Proposal Pamphlet 2024067 ***

 ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
 6070044	EACH	SIGN POST U-CHANNEL (GALVA	NIZED STEEL)			
Bid Rank	Department	Estimate	30.000	\$175.000	\$5,250.00	
6	ISX CONST	RUCTION, LLC.		\$110.000	\$3,300.00	-37.1%
6080005	SQ.FT.	REGULATORY, WARNING, OR MA	ARKER SIGN PANEL			
Bid Rank	Department	Estimate	48.000	\$40.000	\$1,920.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$25.000	\$1,200.00	-37.5%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$120.000	\$5,760.00	+200.0%
3	B4 Enterpris	ses, Inc.		\$68.000	\$3,264.00	+70.0%
4	KE&GCO	NSTRUCTION, INC.		\$34.420	\$1,652.16	-13.9%
5	K.A.Z. CON	STRUCTION, INC.		\$50.000	\$2,400.00	+25.0%
 6	ISX CONST	RUCTION, LLC.		\$30.000	\$1,440.00	-25.0%
6080110	EACH	REMOVE AND REINSTALL SIGN				
Bid Rank	Department	Estimate	9.000	\$250.000	\$2,250.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$278.000	\$2,502.00	+11.2%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$300.000	\$2,700.00	+20.0%
3	B4 Enterpris	ses, Inc.		\$445.000	\$4,005.00	+78.0%
4	KE&GCO	NSTRUCTION, INC.		\$420.680	\$3,786.12	+68.3%
5	K.A.Z. CON	STRUCTION, INC.		\$1,500.000	\$13,500.00	+500.0%
6	ISX CONST	RUCTION, LLC.		\$325.000	\$2,925.00	+30.0%
6110200	L.FT.	METAL HANDRAIL (PAG STD. DT	L. 105)			
Bid Rank	Department	Estimate	842.000	\$100.000	\$84,200.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$35.400	\$29,806.80	-64.6%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$38.000	\$31,996.00	-62.0%
3	B4 Enterpris	ses, Inc.		\$95.000	\$79,990.00	-5.0%
4	KE&GCO	NSTRUCTION, INC.		\$48.710	\$41,013.82	-51.3%
5	K.A.Z. CON	STRUCTION, INC.		\$75.000	\$63,150.00	-25.0%
6	ISX CONST	RUCTION, LLC.		\$100.000	\$84,200.00	+0.0%
6110202	L.FT.	METAL HANDRAIL (MAG STD. DT	L. 145)			
Bid Rank	Department	Estimate	1,271.000	\$105.000	\$133,455.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$46.650	\$59,292.15	-55.6%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$50.000	\$63,550.00	-52.4%
3	B4 Enterpris	ses, Inc.		\$135.000	\$171,585.00	+28.6%
4	KE&GCO	NSTRUCTION, INC.		\$64.200	\$81,598.20	-38.9%
5	K.A.Z. CON	STRUCTION, INC.		\$75.000	\$95,325.00	-28.6%
 6	ISX CONST	RUCTION, LLC.		\$50.000	\$63,550.00	-52.4%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VE	ERT.PANEL, TUBULAR MA	RKER)		
Bid Rank	Department	Estimate	52,275.000	\$0.500	\$26,137.50	
1	•	CONSTRUCTION COMPANY		\$0.180	\$9,409.50	-64.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$0.300	\$15,682.50	-40.0%

Printed: 7/25/2025 *** Bid Tabs for Proposal Pamphlet 2024067 *** Page 7 of 15

Item Unit of **Compared To** Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** 7016030 **EACH-DAY** BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER) Bid Rank \$0.500 Department Estimate 52,275.000 \$26,137.50 B4 Enterprises, Inc. \$0.300 \$15,682.50 -40.0% 4 K E & G CONSTRUCTION, INC. \$0.230 \$12,023.25 -54.0% 5 K.A.Z. CONSTRUCTION, INC. \$2.000 \$104,550.00 +300.0% ISX CONSTRUCTION, LLC. \$0.350 \$18,296.25 -30.0% 7016032 EACH-DAY PORTABLE SIGN STAND (RIGID) Bid Rank Department Estimate 3,170.000 \$1.000 \$3,170.00 1 **GRANITE CONSTRUCTION COMPANY** \$0.180 \$570.60 -82.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$0.900 \$2,853.00 -10.0% 3 B4 Enterprises, Inc. \$0.800 \$2,536.00 -20.0% 4 KE&G CONSTRUCTION, INC. \$0.230 \$729.10 -77.0% K.A.Z. CONSTRUCTION, INC. \$2.000 \$6,340.00 +100.0% 6 \$0.500 -50.0% ISX CONSTRUCTION, LLC. \$1,585.00 7016033 EACH-DAY PORTABLE SIGN STAND (SPRING TYPE) Bid Rank Department Estimate 3,565.000 \$1.000 \$3,565.00 1 **GRANITE CONSTRUCTION COMPANY** \$0.420 \$1,497.30 -58.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$1.900 \$6,773.50 +90.0% 3 B4 Enterprises, Inc. \$1.200 \$4,278.00 +20.0% 4 K E & G CONSTRUCTION, INC. \$0.540 \$1,925.10 -46.0% 5 K.A.Z. CONSTRUCTION. INC. \$2.000 \$7,130.00 +100.0% 6 ISX CONSTRUCTION, LLC. \$0.850 \$3,030.25 -15.0% 7016035 EACH-DAY WARNING LIGHT (TYPE A) Bid Rank 3,565.000 \$0.350 Department Estimate \$1,247.75 1 **GRANITE CONSTRUCTION COMPANY** \$0.180 \$641.70 -48.6% 2 COMBS CONSTRUCTION COMPANY, INC. \$0.250 \$891.25 -28.6% 3 B4 Enterprises, Inc. \$0.200 \$713.00 -42.9% \$0.230 4 K E & G CONSTRUCTION, INC. \$819.95 -34.3% 5 K.A.Z. CONSTRUCTION, INC. \$1.000 \$3,565.00 +185.7% 6 ISX CONSTRUCTION, LLC. \$0.300 \$1,069.50 -14.3% 7016037 EACH-DAY WARNING LIGHT (TYPE C) Bid Rank Department Estimate 52.275.000 \$0.350 \$18.296.25 1 **GRANITE CONSTRUCTION COMPANY** \$0.250 \$13,068.75 -28.6% COMBS CONSTRUCTION COMPANY, INC. \$0.250 -28.6% 2 \$13,068.75 3 \$10,455.00 B4 Enterprises, Inc. \$0.200 -42.9% 4 K E & G CONSTRUCTION, INC. \$0.310 \$16,205.25 -11.4% 5 \$2.000 K.A.Z. CONSTRUCTION, INC. \$104,550.00 +471.4% 6 ISX CONSTRUCTION, LLC. \$0.300 \$15,682.50 -14.3%

Printed: 7/25/2025 Page 8 of 15

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN	10 S.F.)			
Bid Rank	Department	Estimate	3,565.000	\$1.000	\$3,565.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$0.180	\$641.70	-82.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$0.500	\$1,782.50	-50.0%
3	B4 Enterpris	es, Inc.		\$0.900	\$3,208.50	-10.0%
4	KE&GCO	NSTRUCTION, INC.		\$0.230	\$819.95	-77.0%
5	K.A.Z. CON	STRUCTION, INC.		\$1.000	\$3,565.00	+0.0%
6	ISX CONST	RUCTION, LLC.		\$0.500	\$1,782.50	-50.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR M	IORE)			
Bid Rank	Department	Estimate	3,170.000	\$1.500	\$4,755.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$0.250	\$792.50	-83.3%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$0.500	\$1,585.00	-66.7%
3	B4 Enterpris	es, Inc.		\$1.200	\$3,804.00	-20.0%
4	KE&GCO	NSTRUCTION, INC.		\$0.310	\$982.70	-79.3%
5	K.A.Z. CONS	STRUCTION, INC.		\$1.000	\$3,170.00	-33.3%
6	ISX CONST	RUCTION, LLC.		\$0.700	\$2,219.00	-53.3%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOAR	D (CONTRACTOR FURNIS	HED)		
Bid Rank	Department	Estimate	25.000	\$600.000	\$15,000.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$66.400	\$1,660.00	-88.9%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$45.000	\$1,125.00	-92.5%
3	B4 Enterpris	es, Inc.		\$57.000	\$1,425.00	-90.5%
4	KE&GCO	NSTRUCTION, INC.		\$68.840	\$1,721.00	-88.5%
5		STRUCTION, INC.		\$100.000	\$2,500.00	-83.3%
6	ISX CONST	RUCTION, LLC.		\$100.000	\$2,500.00	-83.3%
7016075	HOUR	FLAGGING SERVICES (CIVILIAN)			
Bid Rank	Department	Estimate	32.000	\$60.000	\$1,920.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$48.600	\$1,555.20	-19.0%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$60.000	\$1,920.00	+0.0%
3	B4 Enterpris	es, Inc.		\$99.000	\$3,168.00	+65.0%
4	KE&GCO	NSTRUCTION, INC.		\$75.530	\$2,416.96	+25.9%
5	K.A.Z. CONS	STRUCTION, INC.		\$150.000	\$4,800.00	+150.0%
6	ISX CONST	RUCTION, LLC.		\$100.000	\$3,200.00	+66.7%
7016079	HOUR	FLAGGING SERVICES (UNIFORM	MED OFFICER)			
Bid Rank	Department	Estimate	48.000	\$90.000	\$4,320.00	
1	GRANITE C	ONSTRUCTION COMPANY		\$144.400	\$6,931.20	+60.4%
2	COMBS CO	NSTRUCTION COMPANY, INC.		\$130.000	\$6,240.00	+44.4%
3	B4 Enterpris	es, Inc.		\$260.300	\$12,494.40	+189.2%
4	KE&GCO	NSTRUCTION, INC.		\$114.730	\$5,507.04	+27.5%
5	K.A.Z. CON	STRUCTION, INC.		\$150.000	\$7,200.00	+66.7%

Printed: 7/25/2025 Page 9 of 15

7016079 HOUR FLAGGING SERVICES (UNIFORMED OFFICER) Bid Rank Department Estimate 48.000 \$90.000 \$4,320.00 6 ISX CONSTRUCTION, LLC. \$150.000 \$7,200.00 +66.7% 7080201 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE) Bid Rank Department Estimate 3,444.000 \$1.000 \$3,444.00 1 GRANITE CONSTRUCTION COMPANY \$0.250 \$861.00 -75.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$4,821.60 +40.0% 3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0%	Compared To Dept Estimate	Extended Amount	Unit Price	Quantity	Unit of Measure Item Description	ltem Number
6 ISX CONSTRUCTION, LLC. \$150.000 \$7,200.00 +66.7% 7080201 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE) WHITE) S1.000 \$3,444.00 Bid Rank Department Estimate 3,444.000 \$1.000 \$3,444.00 1 GRANITE CONSTRUCTION COMPANY \$0.250 \$861.00 -75.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$4,821.60 +40.0% 3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				IED OFFICER)	HOUR FLAGGING SERVICES (UNIFORME	7016079
7080201 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE) Bid Rank Department Estimate 3,444.000 \$1.000 \$3,444.00 1 GRANITE CONSTRUCTION COMPANY \$0.250 \$861.00 -75.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$4,821.60 +40.0% 3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)		\$4,320.00	\$90.000	48.000	Department Estimate	Bid Rank
Bid Rank Department Estimate 3,444.000 \$1.000 \$3,444.00 1 GRANITE CONSTRUCTION COMPANY \$0.250 \$861.00 -75.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$4,821.60 +40.0% 3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)	+66.7%	\$7,200.00	\$150.000		ISX CONSTRUCTION, LLC.	6
1 GRANITE CONSTRUCTION COMPANY \$0.250 \$861.00 -75.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$4,821.60 +40.0% 3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)			VHITE)	T MARKING (PAINTED) (\	L.FT. WATERBORNE-TYPE I PAVEMENT	7080201
2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$4,821.60 +40.0% 3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)		\$3,444.00	\$1.000	3,444.000	Department Estimate	Bid Rank
3 B4 Enterprises, Inc. \$0.850 \$2,927.40 -15.0% 4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)	-75.0%	\$861.00	\$0.250		GRANITE CONSTRUCTION COMPANY	1
4 K E & G CONSTRUCTION, INC. \$0.340 \$1,170.96 -66.0% 5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)	+40.0%	\$4,821.60	\$1.400		COMBS CONSTRUCTION COMPANY, INC.	2
5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$10,332.00 +200.0% 6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)	-15.0%	\$2,927.40	\$0.850		B4 Enterprises, Inc.	3
6 ISX CONSTRUCTION, LLC. \$0.750 \$2,583.00 -25.0% 7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)	-66.0%	\$1,170.96	\$0.340		K E & G CONSTRUCTION, INC.	4
7080202 L.FT. WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)	+200.0%	\$10,332.00	\$3.000		K.A.Z. CONSTRUCTION, INC.	5
	-25.0%	\$2,583.00	\$0.750		ISX CONSTRUCTION, LLC.	6
Did Dark			ELLOW)	T MARKING (PAINTED) (L.FT. WATERBORNE-TYPE I PAVEMENT	7080202
ыо капк □epaπment Estimate 2,407.000 \$1.000 \$2,407.00		\$2,407.00	\$1.000	2,407.000	Department Estimate	Bid Rank
1 GRANITE CONSTRUCTION COMPANY \$0.200 \$481.40 -80.0%	-80.0%	\$481.40	\$0.200		GRANITE CONSTRUCTION COMPANY	1
2 COMBS CONSTRUCTION COMPANY, INC. \$1.400 \$3,369.80 +40.0%	+40.0%	\$3,369.80	\$1.400		COMBS CONSTRUCTION COMPANY, INC.	2
3 B4 Enterprises, Inc. \$1.000 \$2,407.00 +0.0%	+0.0%	\$2,407.00	\$1.000		B4 Enterprises, Inc.	3
4 K E & G CONSTRUCTION, INC. \$0.280 \$673.96 -72.0%	-72.0%	\$673.96	\$0.280		K E & G CONSTRUCTION, INC.	4
5 K.A.Z. CONSTRUCTION, INC. \$3.000 \$7,221.00 +200.0%	+200.0%	\$7,221.00	\$3.000		K.A.Z. CONSTRUCTION, INC.	5
6 ISX CONSTRUCTION, LLC. \$0.750 \$1,805.25 -25.0%	-25.0%	\$1,805.25	\$0.750		ISX CONSTRUCTION, LLC.	6
7080207 EACH WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)			GEND) (ONLY)	T MARKING (PAINTED LE	EACH WATERBORNE-TYPE I PAVEMENT	7080207
Bid Rank Department Estimate 44.000 \$150.000 \$6,600.00		\$6,600.00	\$150.000	44.000	Department Estimate	Bid Rank
1 GRANITE CONSTRUCTION COMPANY \$64.500 \$2,838.00 -57.0%	-57.0%	\$2,838.00	\$64.500		GRANITE CONSTRUCTION COMPANY	1
2 COMBS CONSTRUCTION COMPANY, INC. \$46.000 \$2,024.00 -69.3%	-69.3%	\$2,024.00	\$46.000		COMBS CONSTRUCTION COMPANY, INC.	2
3 B4 Enterprises, Inc. \$159.750 \$7,029.00 +6.5%	+6.5%	\$7,029.00	\$159.750		B4 Enterprises, Inc.	3
4 K E & G CONSTRUCTION, INC. \$88.730 \$3,904.12 -40.8%	-40.8%	\$3,904.12	\$88.730		K E & G CONSTRUCTION, INC.	4
5 K.A.Z. CONSTRUCTION, INC. \$200.000 \$8,800.00 +33.3%	+33.3%	\$8,800.00	\$200.000		K.A.Z. CONSTRUCTION, INC.	5
6 ISX CONSTRUCTION, LLC. \$85.000 \$3,740.00 -43.3%	-43.3%	\$3,740.00	\$85.000		ISX CONSTRUCTION, LLC.	6
8101005 CU.YD. EROSION CONTROL (CHECK DAM) (DETAIL ES10)				M) (DETAIL ES10)	CU.YD. EROSION CONTROL (CHECK DAM	8101005
Bid Rank Department Estimate 14.000 \$350.000 \$4,900.00		\$4,900.00	\$350.000	14.000	Department Estimate	Bid Rank
1 GRANITE CONSTRUCTION COMPANY \$386.000 \$5,404.00 +10.3%	+10.3%	\$5,404.00	\$386.000		GRANITE CONSTRUCTION COMPANY	1
2 COMBS CONSTRUCTION COMPANY, INC. \$480.000 \$6,720.00 +37.1%	+37.1%	\$6,720.00	\$480.000		COMBS CONSTRUCTION COMPANY, INC.	2
3 B4 Enterprises, Inc. \$500.000 \$7,000.00 +42.9%	+42.9%	\$7,000.00	\$500.000		B4 Enterprises, Inc.	3
4 K E & G CONSTRUCTION, INC. \$328.900 \$4,604.60 -6.0%	-6.0%	\$4,604.60	\$328.900		K E & G CONSTRUCTION, INC.	4
5 K.A.Z. CONSTRUCTION, INC. \$550.000 \$7,700.00 +57.1%	+57.1%	\$7,700.00	\$550.000		K.A.Z. CONSTRUCTION, INC.	5
6 ISX CONSTRUCTION, LLC. \$200.000 \$2,800.00 -42.9%	-42.9%	\$2,800.00	\$200.000		ISX CONSTRUCTION, LLC.	6
8101016 CU.YD. EROSION CONTROL (ROCK MULCH)				.CH)	CU.YD. EROSION CONTROL (ROCK MULC	8101016
Bid Rank Department Estimate 10.000 \$400.000 \$4,000.00		\$4,000.00	\$400.000	10.000	Department Estimate	Bid Rank
1 GRANITE CONSTRUCTION COMPANY \$252.000 \$2,520.00 -37.0%	-37.0%				•	1
2 COMBS CONSTRUCTION COMPANY, INC. \$1,100.000 \$11,000.00 +175.0%	+175.0%	\$11,000.00	\$1,100.000		COMBS CONSTRUCTION COMPANY, INC.	2

Printed: 7/25/2025 *** Bid Tabs for Proposal Pamphlet 2024067 *** Page 10 of 15

Item Unit of **Compared To** Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** CU.YD. 8101016 EROSION CONTROL (ROCK MULCH) Bid Rank 10.000 \$400.000 Department Estimate \$4,000.00 B4 Enterprises, Inc. \$350.000 \$3,500.00 -12.5% 4 K E & G CONSTRUCTION, INC. \$290.660 \$2,906.60 -27.3% 5 K.A.Z. CONSTRUCTION, INC. \$550.000 \$5,500.00 +37.5% ISX CONSTRUCTION, LLC. \$300.000 \$3,000.00 -25.0% 8101018 EROSION CONTROL (STABILIZED CONSTRUCTION ENTRANCE / EXIT GRAVEL PAD) (DETAIL ES11) SQ.YD. Bid Rank Department Estimate 340.000 \$40,000 \$13,600.00 1 **GRANITE CONSTRUCTION COMPANY** \$36.000 \$12,240.00 -10.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$26.000 \$8,840.00 -35.0% 3 B4 Enterprises, Inc. \$145.000 \$49,300.00 +262.5% 4 KE&G CONSTRUCTION, INC. \$56.530 \$19,220.20 +41.3% K.A.Z. CONSTRUCTION. INC. \$65.000 \$22,100.00 +62.5% 6 ISX CONSTRUCTION, LLC. \$20.000 -50.0% \$6,800.00 8101029 CU.YD. EROSION CONTROL (ROCK MULCH) (DETAIL ES2) Bid Rank Department Estimate 18.000 \$350.000 \$6,300.00 1 **GRANITE CONSTRUCTION COMPANY** \$326,000 \$5.868.00 -6.9% +0.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$350.000 \$6,300.00 3 B4 Enterprises, Inc. \$451.000 \$8,118.00 +28.9% 4 K E & G CONSTRUCTION, INC. \$290.650 \$5,231.70 -17.0% 5 K.A.Z. CONSTRUCTION. INC. \$550.000 \$9,900.00 +57.1% 6 ISX CONSTRUCTION, LLC. \$300.000 \$5,400.00 -14.3% EROSION CONTROL (SEDIMENT LOGS) (20") 8101035 L.FT. Bid Rank 83.000 \$40.000 Department Estimate \$3,320.00 1 **GRANITE CONSTRUCTION COMPANY** \$19.150 \$1.589.45 -52.1% 2 COMBS CONSTRUCTION COMPANY, INC. \$28.000 \$2.324.00 -30.0% 3 B4 Enterprises, Inc. \$29.100 \$2,415.30 -27.3% 4 K E & G CONSTRUCTION, INC. \$27.540 \$2,285.82 -31.2% 5 K.A.Z. CONSTRUCTION, INC. \$30.000 \$2,490.00 -25.0% \$2,075.00 6 ISX CONSTRUCTION, LLC. \$25.000 -37.5% 8101050 L.FT. EROSION CONTROL (WATTLES)(20") Bid Rank Department Estimate 3.645.000 \$7.500 \$27.337.50 1 **GRANITE CONSTRUCTION COMPANY** \$8.650 \$31,529.25 +15.3% 2 COMBS CONSTRUCTION COMPANY, INC. \$13.000 \$47,385.00 +73.3% 3 \$25.950 B4 Enterprises, Inc. \$94,587.75 +246.0% 4 K E & G CONSTRUCTION, INC. \$28.380 \$103,445.10 +278.4% 5 K.A.Z. CONSTRUCTION, INC. \$20.000 \$72,900.00 +166.7% 6 ISX CONSTRUCTION, LLC. \$25.000 \$91,125.00 +233.3%

Printed: 7/25/2025 Page 11 of 15

ltem Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9010001	L.SUM	MOBILIZATION				_
Bid Rank	Department	Estimate	1.000	\$225,000.000	\$225,000.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$209,560.750	\$209,560.75	-6.9%
2	COMBS CO	INSTRUCTION COMPANY, INC.		\$300,000.000	\$300,000.00	+33.3%
3	B4 Enterpris	ses, Inc.		\$200,000.000	\$200,000.00	-11.1%
4	KE&GCO	NSTRUCTION, INC.		\$42,221.440	\$42,221.44	-81.2%
5	K.A.Z. CON	STRUCTION, INC.		\$413,903.000	\$413,903.00	+84.0%
6	ISX CONST	RUCTION, LLC.		\$340,228.750	\$340,228.75	+51.2%
9080041	L.FT.	CONCRETE CURB (PAG STD. D	ΓL. 209) (TYPE 2) (H=8")			
Bid Rank	Department	Estimate	1,906.000	\$36.000	\$68,616.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$58.000	\$110,548.00	+61.1%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$50.000	\$95,300.00	+38.9%
3	B4 Enterpris	ses, Inc.		\$50.000	\$95,300.00	+38.9%
4	KE&GCO	NSTRUCTION, INC.		\$42.640	\$81,271.84	+18.4%
5	K.A.Z. CON	STRUCTION, INC.		\$42.000	\$80,052.00	+16.7%
6	ISX CONST	RUCTION, LLC.		\$75.000	\$142,950.00	+108.3%
9080042	L.FT.	CONCRETE CURB (PAG STD. D	ΓL. 209) (TYPE 2) (H=6")			
Bid Rank	Department	Estimate	210.000	\$32.000	\$6,720.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$58.100	\$12,201.00	+81.6%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$58.000	\$12,180.00	+81.3%
3	B4 Enterpris			\$65.000	\$13,650.00	+103.1%
4	KE&GCO	NSTRUCTION, INC.		\$84.020	\$17,644.20	+162.6%
5		STRUCTION, INC.		\$50.000	\$10,500.00	+56.3%
6	ISX CONST	RUCTION, LLC.		\$75.000	\$15,750.00	+134.4%
9080043	L.FT.	CONCRETE CURB (HEADER - P.	AG STD DTL. 213)			
Bid Rank	Department	Estimate	243.000	\$32.000	\$7,776.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$63.000	\$15,309.00	+96.9%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$60.000	\$14,580.00	+87.5%
3	B4 Enterpris	ses, Inc.		\$65.000	\$15,795.00	+103.1%
4	KE&GCO	NSTRUCTION, INC.		\$65.550	\$15,928.65	+104.8%
5	K.A.Z. CON	STRUCTION, INC.		\$30.000	\$7,290.00	-6.3%
6	ISX CONST	RUCTION, LLC.		\$75.000	\$18,225.00	+134.4%
9080044	L.FT.	CONCRETE CURB (TERMINAL F	AG STD. DTL. 212)			
Bid Rank	Department	Estimate	6.000	\$100.000	\$600.00	
1	GRANITE C	CONSTRUCTION COMPANY		\$311.000	\$1,866.00	+211.0%
2	COMBS CC	INSTRUCTION COMPANY, INC.		\$330.000	\$1,980.00	+230.0%
3	B4 Enterpris	ses, Inc.		\$85.000	\$510.00	-15.0%
4	KE&GCO	NSTRUCTION, INC.		\$131.930	\$791.58	+31.9%
5	K.A.Z. CON	STRUCTION, INC.		\$500.000	\$3,000.00	+400.0%

Printed: 7/25/2025 Page 12 of 15

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080044	L.FT. CONCRETE CURB (TERM	IINAL PAG STD. DTL. 212)			
Bid Rank	Department Estimate	6.000	\$100.000	\$600.00	
6	ISX CONSTRUCTION, LLC.		\$100.000	\$600.00	+0.0%
9080134	SQ.FT. CONCRETE VALLEY GUT	TER (PAG DET. 208, 6' WIDTH)			
Bid Rank	Department Estimate	86.000	\$40.000	\$3,440.00	
1	GRANITE CONSTRUCTION COMPANY		\$44.000	\$3,784.00	+10.0%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$60.000	\$5,160.00	+50.0%
3	B4 Enterprises, Inc.		\$37.000	\$3,182.00	-7.5%
4	K E & G CONSTRUCTION, INC.		\$87.890	\$7,558.54	+119.7%
5	K.A.Z. CONSTRUCTION, INC.		\$30.000	\$2,580.00	-25.0%
6	ISX CONSTRUCTION, LLC.		\$100.000	\$8,600.00	+150.0%
9120002	SQ.YD. SHOTCRETE (5")				
Bid Rank	Department Estimate	55.000	\$200.000	\$11,000.00	
1	GRANITE CONSTRUCTION COMPANY		\$337.000	\$18,535.00	+68.5%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$525.000	\$28,875.00	+162.5%
3	B4 Enterprises, Inc.		\$500.000	\$27,500.00	+150.0%
4	K E & G CONSTRUCTION, INC.		\$211.440	\$11,629.20	+5.7%
5	K.A.Z. CONSTRUCTION, INC.		\$230.000	\$12,650.00	+15.0%
6	ISX CONSTRUCTION, LLC.		\$420.000	\$23,100.00	+110.0%
9120004	SQ.YD. SHOTCRETE (4")				
Bid Rank	Department Estimate	64.000	\$175.000	\$11,200.00	
1	GRANITE CONSTRUCTION COMPANY		\$420.000	\$26,880.00	+140.0%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$450.000	\$28,800.00	+157.1%
3	B4 Enterprises, Inc.		\$420.000	\$26,880.00	+140.0%
4	K E & G CONSTRUCTION, INC.		\$327.070	\$20,932.48	+86.9%
5	K.A.Z. CONSTRUCTION, INC.		\$230.000	\$14,720.00	+31.4%
6	ISX CONSTRUCTION, LLC.		\$500.000	\$32,000.00	+185.7%
9120006	SQ.YD. SHOTCRETE (6")				
Bid Rank	Department Estimate	507.000	\$225.000	\$114,075.00	
1	GRANITE CONSTRUCTION COMPANY		\$265.000	\$134,355.00	+17.8%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$200.000	\$101,400.00	-11.1%
3	B4 Enterprises, Inc.		\$197.000	\$99,879.00	-12.4%
4	K E & G CONSTRUCTION, INC.		\$247.730	\$125,599.11	+10.1%
5	K.A.Z. CONSTRUCTION, INC.		\$260.000	\$131,820.00	+15.6%
6	ISX CONSTRUCTION, LLC.		\$184.000	\$93,288.00	-18.2%
9130001	CU.YD. RIPRAP (DUMPED)				
Bid Rank	Department Estimate	168.000	\$250.000	\$42,000.00	
1	GRANITE CONSTRUCTION COMPANY		\$231.000	\$38,808.00	-7.6%
2	COMBS CONSTRUCTION COMPANY, IN	C.	\$200.000	\$33,600.00	-20.0%

Printed: 7/25/2025 *** Bid Tabs for Proposal Pamphlet 2024067 *** Page 13 of 15

Item Unit of **Compared To** Dept Estimate Number Measure **Unit Price Item Description** Quantity **Extended Amount** CU.YD. 9130001 RIPRAP (DUMPED) Bid Rank \$250.000 Department Estimate 168.000 \$42,000.00 B4 Enterprises, Inc. \$350.000 \$58,800.00 +40.0% 4 K E & G CONSTRUCTION, INC. \$169.440 \$28,465.92 -32.2% 5 K.A.Z. CONSTRUCTION, INC. \$220.000 \$36,960.00 -12.0% ISX CONSTRUCTION, LLC. \$300.000 \$50,400.00 +20.0% 9140121 SQ.FT. RETAINING WALL (REINFORCED CONCRETE) Bid Rank Department Estimate 2.045.000 \$125.000 \$255,625.00 1 **GRANITE CONSTRUCTION COMPANY** \$379.000 \$775,055.00 +203.2% 2 COMBS CONSTRUCTION COMPANY, INC. \$127.000 \$259,715.00 +1.6% 3 B4 Enterprises, Inc. \$129.000 \$263,805.00 +3.2% 4 KE&G CONSTRUCTION, INC. \$273.740 \$559,798.30 +119.0% K.A.Z. CONSTRUCTION. INC. \$280.000 \$572,600.00 +124.0% 6 ISX CONSTRUCTION, LLC. \$295.000 +136.0% \$603,275.00 9170006 EACH **EMBANKMENT SPILLWAY** Bid Rank 1.000 Department Estimate \$6,000.000 \$6,000.00 1 **GRANITE CONSTRUCTION COMPANY** \$4.780.000 \$4.780.00 -20.3% 2 COMBS CONSTRUCTION COMPANY, INC. \$9,500.000 \$9,500.00 +58.3% 3 B4 Enterprises, Inc. \$6.720.000 \$6,720.00 +12.0% 4 K E & G CONSTRUCTION, INC. \$3,786.890 \$3,786.89 -36.9% 5 K.A.Z. CONSTRUCTION. INC. \$10,000.000 \$10,000.00 +66.7% 6 ISX CONSTRUCTION, LLC. \$10,000.000 \$10,000.00 +66.7% 9240010 FORCE ACCOUNT WORK (FORCE ACCOUNT WORK (BIOLOGIST AND WILDLIFE REHABILITATOR) L.SUM Bid Rank Department Estimate 1.000 \$5,000.000 \$5,000.00 1 **GRANITE CONSTRUCTION COMPANY** \$5.000.000 \$5.000.00 +0.0% 2 COMBS CONSTRUCTION COMPANY, INC. \$5.000.000 \$5,000.00 +0.0% 3 B4 Enterprises, Inc. \$5,000.000 \$5,000.00 +0.0% +0.0% 4 K E & G CONSTRUCTION, INC. \$5,000.000 \$5,000.00 5 K.A.Z. CONSTRUCTION, INC. \$5,000.000 \$5,000.00 +0.0% +0.0% 6 ISX CONSTRUCTION, LLC. \$5,000.000 \$5,000.00 9240170 L.SUM CONTRACTOR QUALITY CONTROL Bid Rank Department Estimate 1.000 \$35,000,000 \$35,000.00 1 **GRANITE CONSTRUCTION COMPANY** -4.3% \$33,500.000 \$33,500.00 COMBS CONSTRUCTION COMPANY, INC. 2 \$125,000.600 \$125,000.60 +257.1% 3 B4 Enterprises, Inc. \$30,000.000 \$30,000.00 -14.3% 4 K E & G CONSTRUCTION, INC. \$28,851.320 \$28,851.32 -17.6% 5 K.A.Z. CONSTRUCTION, INC. \$45,000.000 \$45,000.00 +28.6% 6 ISX CONSTRUCTION, LLC. \$125,000.000 \$125,000.00 +257.1%

Printed: 7/25/2025 Page 14 of 15

ltem Number	Unit of Measure Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate					
9240181	SQ.YD. MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS) (MANUAL / MECHANICAL METHODS)									
Bid Rank	Department Estimate	9,000.000	\$0.870	\$7,830.00						
1	GRANITE CONSTRUCTION COMPA	ANY	\$1.950	\$17,550.00	+124.1%					
2	COMBS CONSTRUCTION COMPAN	IY, INC.	\$1.200	\$10,800.00	+37.9%					
3	B4 Enterprises, Inc.		\$3.500	\$31,500.00	+302.3%					
4	K E & G CONSTRUCTION, INC.		\$1.340	\$12,060.00	+54.0%					
5	K.A.Z. CONSTRUCTION, INC.		\$3.000	\$27,000.00	+244.8%					
6	ISX CONSTRUCTION, LLC.		\$5.000	\$45,000.00	+474.7%					
9240182	SQ.YD. MISCELLANEOUS WORK (CONTROL OF NOXIOUS PLANTS) (HERBICIDE)									
Bid Rank	Department Estimate	11,000.000	\$0.700	\$7,700.00						
1	GRANITE CONSTRUCTION COMPA	ANY	\$1.750	\$19,250.00	+150.0%					
2	COMBS CONSTRUCTION COMPAN	IY, INC.	\$1.100	\$12,100.00	+57.1%					
3	B4 Enterprises, Inc.		\$5.000	\$55,000.00	+614.3%					
4	K E & G CONSTRUCTION, INC.		\$1.530	\$16,830.00	+118.6%					
5	K.A.Z. CONSTRUCTION, INC.		\$3.000	\$33,000.00	+328.6%					
6	ISX CONSTRUCTION, LLC.		\$0.350	\$3,850.00	-50.0%					
9250001	L.SUM CONSTRUCTION SU	IRVEYING AND LAYOUT								
Bid Rank	Department Estimate	1.000	\$40,000.000	\$40,000.00						
1	GRANITE CONSTRUCTION COMPA	ANY	\$35,900.000	\$35,900.00	-10.3%					
2	COMBS CONSTRUCTION COMPAN	IY, INC.	\$130,000.000	\$130,000.00	+225.0%					
3	B4 Enterprises, Inc.		\$40,000.000	\$40,000.00	+0.0%					
4	K E & G CONSTRUCTION, INC.		\$66,735.890	\$66,735.89	+66.8%					
5	K.A.Z. CONSTRUCTION, INC.		\$50,000.000	\$50,000.00	+25.0%					
6	ISX CONSTRUCTION, LLC.		\$125,000.00	+212.5%						
2020009 A	CU.YD. REMOVAL OF STRUC									
Bid Rank	Department Estimate	30.000	\$550.000	\$16,500.00						
1	GRANITE CONSTRUCTION COMPA	ANY	\$472.000	\$14,160.00	-14.2%					
2	COMBS CONSTRUCTION COMPAN	IY, INC.	\$500.000	\$15,000.00	-9.1%					
3	B4 Enterprises, Inc.		\$600.000	\$18,000.00	+9.1%					
4	K E & G CONSTRUCTION, INC.		\$455.930	\$13,677.90	-17.1%					
5	K.A.Z. CONSTRUCTION, INC.		\$250.000	\$7,500.00	-54.5%					
6	ISX CONSTRUCTION, LLC.		\$500.000	\$15,000.00	-9.1%					
2030501 A	CU.YD. STRUCTURAL EXCA	VATION								
Bid Rank	Department Estimate	67.000	\$110.000	\$7,370.00						
1	GRANITE CONSTRUCTION COMPA	ANY	\$99.000	\$6,633.00	-10.0%					
2	COMBS CONSTRUCTION COMPAN	IY, INC.	\$150.000	\$10,050.00	+36.4%					
3	B4 Enterprises, Inc.		\$100.000	\$6,700.00	-9.1%					
4	K E & G CONSTRUCTION, INC.		\$122.560	\$8,211.52	+11.4%					
5	K.A.Z. CONSTRUCTION, INC.		\$75.000	\$5,025.00	-31.8%					

Printed: 7/25/2025 Page 15 of 15

ltem Number	Unit of Measure Item D	Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
2030501 A	CU.YD. STRU	ICTURAL EXCAVATION					
Bid Rank	Department Estimate	•	67.000	\$110.000	\$7,370.00		
6	ISX CONSTRUCTIO	N, LLC.		\$1,250.000	\$83,750.00	+1036.4%	
2030506 A	CU.YD. STRU	JCTURE BACKFILL					
Bid Rank	Department Estimate	•	67.000	\$90.000	\$6,030.00		
1	GRANITE CONSTRU	JCTION COMPANY		\$195.000	\$13,065.00	+116.7%	
2	COMBS CONSTRUC	CTION COMPANY, INC.		\$230.000	\$15,410.00	+155.6%	
3	B4 Enterprises, Inc.			\$146.000	\$9,782.00	+62.2%	
4	K E & G CONSTRUC	CTION, INC.		\$81.620	\$5,468.54	-9.3%	
5	K.A.Z. CONSTRUCT	ION, INC.		\$250.000	\$16,750.00	+177.8%	
6	ISX CONSTRUCTIO	N, LLC.		\$250.000	\$16,750.00	+177.8%	
6010002 A	CU.YD. STRU	ICTURAL CONCRETE (CLAS	S S) (F'C = 3,000)				
Bid Rank	Department Estimate	•	45.000	\$2,400.000	\$108,000.00		
1	GRANITE CONSTRU	JCTION COMPANY		\$2,560.000	\$115,200.00	+6.7%	
2	COMBS CONSTRUC	CTION COMPANY, INC.		\$2,800.000	\$126,000.00	+16.7%	
3	B4 Enterprises, Inc.			\$1,800.000	\$81,000.00	-25.0%	
4	K E & G CONSTRUC	CTION, INC.		\$2,472.620	\$111,267.90	+3.0%	
5	K.A.Z. CONSTRUCT	ION, INC.		\$750.000	\$33,750.00	-68.8%	
6	ISX CONSTRUCTIO	N, LLC.		\$2,500.000	\$112,500.00	+4.2%	
6050002 A	LB. REIN	FORCING STEEL					
Bid Rank	Department Estimate	•	6,711.000	\$1.250	\$8,388.75		
1	GRANITE CONSTRU	JCTION COMPANY		\$1.750	\$11,744.25	+40.0%	
2	COMBS CONSTRUC	CTION COMPANY, INC.		\$2.500	\$16,777.50	+100.0%	
3	B4 Enterprises, Inc.			\$3.000	\$20,133.00	+140.0%	
4	K E & G CONSTRUC	CTION, INC.		\$2.290	\$15,368.19	+83.2%	
5	K.A.Z. CONSTRUCT	*		\$5.000	\$33,555.00	+300.0%	
6	ISX CONSTRUCTIO	N, LLC.		\$4.000	\$26,844.00	+220.0%	
6050101 A	EACH PLAC	E DOWELS					
Bid Rank	Department Estimate)	14.000	\$200.000	\$2,800.00		
1	GRANITE CONSTRU	JCTION COMPANY		\$114.000	\$1,596.00	-43.0%	
2	COMBS CONSTRUC	CTION COMPANY, INC.		\$100.000	\$1,400.00	-50.0%	
3	B4 Enterprises, Inc.		\$150.000	\$2,100.00	-25.0%		
4	K E & G CONSTRUC	CTION, INC.		\$195.200	\$2,732.80	-2.4%	
5	K.A.Z. CONSTRUCT	TON, INC.		\$200.000	\$2,800.00	+0.0%	
6	ISX CONSTRUCTIO	N, LLC.		\$150.000	\$2,100.00	-25.0%	